

Informazione Regolamentata n. 1845-18-2024

Data/Ora Inizio Diffusione 20 Febbraio 2024 08:16:53

Euronext Milan

Societa' : TECHNOGYM

Identificativo Informazione

Regolamentata

186416

Utenza - Referente : TECHNOGYMN02 - Bertacco

Tipologia : 2.4; 3.1

Data/Ora Ricezione : 20 Febbraio 2024 08:16:53

Data/Ora Inizio Diffusione : 20 Febbraio 2024 08:16:53

Oggetto : Weekly press release buyback program

Testo del comunicato

Vedi allegato





WEEKLY COMMUNICATION REGARDING THE SHARE BUYBACK PROGRAM DURING THE PERIOD FROM FEBRUARY 12th, 2024 TO FEBRUARY 16TH, 2024

Cesena (Italy), February 20th, 2024 – Technogym S.p.A. ("**Technogym**" and/or the "**Company**") announces the purchase – during the period from February 12th, 2024 to February 16th, 2024 – of a total number of 111,837 shares at a weighted daily average price of Euro 9.44, for a total countervalue of Euro 1,057,322.34 under the buyback program communicated to the market on November 6th, 2023 and launched on the same date, following the authorization by the Ordinary Shareholders' Meeting held on May 5th, 2023. The purchases were made through the independent authorized intermediary Equita SIM S.p.A..

Based on information provided by the independent authorized intermediary in charge of carrying out the buyback transactions as per this press release, a summary of the daily transactions is given below, in aggregate.

DATE	TRANSACTION	VOLUME	WEIGHTED DAILY AVERAGE PRICE (EURO)	COUNTERVALUE	MARKET
2024/02/12	BUY	30,000	9.52	285,599.46	MTAA
2024/02/13	BUY	20,561	9.45	194,333.27	MTAA
2024/02/14	BUY	25,000	9.51	237,640.89	MTAA
2024/02/15	BUY	25,000	9.38	234,375.00	MTAA
2024/02/16	BUY	11,276	9.34	105,373.72	MTAA
TOTAL		111,837	9.44	1,057,322.34	MTAA

Details about all the purchase transactions executed in the above-mentioned period are available in Excel format on the Company's website which can be reached at https://corporate.technogym.com/en/investor-relations/price-sensitive-press-releases.

As of the date of this press release, the Company holds no. 1,547,705 treasury shares equal to 0.77% of the shares composing the share capital.

Contacts:

Press and Media Director – Enrico Manaresi emanaresi@technogym.com

Investor Relations Director - Michele Bertacco investor relations@technogym.com



The Wellness Company



Notes to press release

Technogym

Technogym is a world leading brand in products and digital technologies for fitness, sport and health for wellness. Technogym offers a complete ecosystem of connected smart equipment, digital services, on-demand training experiences and apps that allow every single enduser to access a completely personalized training experience anytime and anywhere: at home, at the gym, on-the-go. Over 55 million people train with Technogym in 85,000 wellness centers and 400,000 private homes world-wide. Technogym has been Official Supplier to the last eight Olympic Games and it's the brand of reference for sport champions and celebrities all over the world.

Fine Comunicato n.1845-18-2024

Numero di Pagine: 4